Math 2200-0I (Caleulug [} Spring 2020

Book 2



Suppose a stone is thrown vertically upward from the edge Sec 36 #24, Mar 2

of a cliff on Earth with an initial velocity of 19.6 m/s from 'r
a height of 24.5 m above the ground. The height (in meters) T% ,

of the stone above the ground 7 seconds after it is thrown is

s(r) = —4.92 + 19.6t + 24.5. S -
a. Determine the velocity v of the stone after 7 seconds. __,L_ \Y
b. When does the stone reach its highest point? .
c. What is the height of the stone at the highest point? | Shy= -441°+ 196k +245  psiss
d. When does the stone strike the ground? bos 5@( oL 2 Hono q,@o:re I
e. With what velocity does the stone strike the ground? in walis, & Faet (in
f. On what intervals is the speed increasing? ody ).
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26. Derivatives using tables Let 2(x) = f(g(x)) and k(x) = g(g(x)).
Use the table to compute the following derivatives.
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79-82. Visualizing tangent and normal lines
a. Determine an equation of the tangent line
given point (x,, y,) on the following ¢
Exercises 73-78.)

b. Graph the tangent and normal M ;
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